कार्यालय अधिशाषी अभियन्ता (विद्याधर नगर जोन) नगर निगम जयपुर ग्रेटर (अम्बाबाडी सर्किल, अम्बाबाडी जयपुर)

क्रमांक:- एफ. 29 () वि.जोन/अधि.अमि. /2023-24/५८५

दिनांक : 61.02.2024

संशोधित ई-निविदा सूचना संख्या 51/2023-24

निर्माण—खण्ड विद्याधर नगर जोन द्वारा जारी ई—निविदा सूचना संख्या 51 / 2023—24 में कार्य के G-Schedule में आंशिक संशोधन करते हुए निविदा अपलोड करने हेतु भिजवाई जा रही है

शेष समय व शर्ते पूर्व की भाँति रहेंगी।

अधिशाषी अभियन्ता अधिशाषी अभियन्ता विद्याधर क्रियार जोन नगर निगम, जियपुरू ग्रेटर



OFFICE OF THE EXECUTIVE ENGINEER (VDZ)

NAGAR NIGAM JAIPUR Greatar

AMBABADI CIRCLE AMBABADI JAIPUR

NAME OF WORK :- विधाधर नगर जोन के वार्ड नं. 34 36 37 39 40 41 42 में वार्षिक बरसाती नाला सफाई व मरम्मत कार्य । (वर्ष 2024–25)

T	Part A				
N	Particulars	Qty	Rate	Per	Amount in Rs.
	Dismantling of existing structures like culverts, bridges, retaining walls, CC road and other structure comprising of masonry, cement concrete, wood work, steel work, including T&P and scaffolding wherever necessary, sorting the dismantled material, disposal of unserviceable material and stacking the serviceable material with all lifts and lead of 50 metres as directed by Engineer. Cement Concrete Grade M-15 and above and PCC blocks	44.10	620.00	Cum	27342.00
	Earth work in excavation in foundation, trenches etc. including dressing of sides and ramming of bottoms, including getting out the excavated material, refilling after laying pipe/ foundation and disposal of surplus excavated material at a lead upto 50m suitable site as per direction of Engineer for following depths, below natural ground / Road top level. In all types soils/ saturated soil such as moorum,	51.00	210.50	Cum	10735.50
3	sand, sandv silt, clav, black cotton soil, kankar, etc. Depth upto 1.5 m Carriage of Materials by mechanical transport including loading, unloading and	60.00	349.45	Cum	20967.00
4	stacking :: Earth 10KM Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work upto plinth level : 1:5:10 (1 cement : 5 fine/ coarse sand : 10 graded stone aggregate 40 mm nominal size)	32.63	4075.00	Cum	132946.88
5	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work upto plinth level: 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size)	12.96	5360.00	Cum	69465.60
6	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work upto plinth level: 1:1½:3 (1 Cement: 1½ coarse sand: 3 graded stone aggregate 20 mm nominal size).	46.17	5810.00	Cum	268247.70
7	Random rubble masonry with hard stone in foundation and plinth: Cement mortar 1:6 (1 cement: 6 coarse sand)	42.08	4245.00	Cum	178608.38
8	Cement plastering including T&P, scaffolding, material and complete labour, including cost of water, curing, racking of joints etc. with 12 mm cement plaster of mix: 1:6 (1 cement: 6 fine/ coarse sand)		192.00	Sqm	154560.00
9	Providing and fixing of reinforced Ferro-Cement drain covers designed for 'A' class loading duly marked on cover with adequate steel reinforcement having thickness 75mm to 150mm anti corrosive bitumen painted M.S. plate, Rim and M.S. lifting hooks, Admixtures like plasticizer, bond improving compound, shrinkage, resistance compound, abrasion resistant complete as per approved design etc.		1500.000		10214 40
A	Standard Size 600x800mm (75mm thick) for span 300 to 450mm	6.72	1520.00		# 10 to 40 to 20 March 20 To 2
В	Standard Size 1000x800mm (100mm thick) for span 451 to 700mm	136.00	2499.00	_	
10	Providing and fixing of reinforced Ferro-Cement drain covers designed for 'AA class loading duly marked on cover with adequate steel reinforcement having thickness 75mm to 150mm anti corrosive bitumen painted M.S. plate, Rim and		2840.00	Sqr	n 644112.00
A	1 10: 1000 900 (100 mm think) for appn 451 to 700 mm	28.80	2770.00) Sqi	_
E	(125 - 45) for soon 701 to 1200mm	74.70	3150.00) Sqi	m 235305.00
(Standard Size 2100x500mm (150mm thick) for span 1201 to	16.80	3725.00	O Sq	m 62580.00
1	Providing and fixing stone slab covering of required size over drains including filling of joints with cement sand mortar 1:3 complete as per direction of Engineer in-charge. Average thickness 60 to 75 mm	700.00	869.00	Sq	m 608300.0

12	Reinforcement for R.C.C. work at all levels bending, placing in position and binding all	comp	lete. T	hermo-Me	echanically		64.20	Kg	46545.00
13	Structural steel work in single section fixed with or without connecting plate including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.					3259.30	74.40	Kg	242491.92
						Part A	Total		3132061.37
4.0		H.	SCHE	DULE		i e M			
1.3	Part B JMC BSR 2009			3 2 3 7					
S.N	Particulars					Qty	Rate	Per	Amount in Rs.
1	Desilting of covered Nallah / covered drain (which will include continuous covering for 5mtr. & above length at a stretch) including removing of stone patties ferro cement drain covers dismantling of existing c c flooring etc. & replacing the same (without mortar & c c etc.) after desilting of Nallah Spacing of opening should not be more then 5 mtr. or as per direction of Engineer in charge with all lead & lift complete in all respect.					4584.30	rate to be quoted	Cum	

EXECUTIVE ENGINEER (VDZ)
NAGAR NIGAM JAIPUR GREATER
MOW'S'

OFFICE OF THE EXECUTIVE ENGINEER VD ZONE

NAGAR NIGAM JAIPUR (GREATAR) AMBABADI CIRCLE AMBABADI JAIPUR

S. NO 430 /ME/VDZ

DATE: - 31.01.2024

E- Tendring Notice Inviting bid NIB No.51/2023-24 UBIN No. JMC 2023-24

Online Tender are invited on behalf of Municipal Corporation jaipur greatar Under two envelope post qualification method (envelope A fees and copy of registration certificate, B financial bid) from experienced, technically and financially sound reputed contractors who are registred in nagar nigam jaipur in appropriate specified class or class/AA, A or equivalent in any of the central govt. Deptt./state govt. Deptt./ local body/ RUIDP/ADB funded project/ world bank funded project fulfilling eligibility criteria as describe in technical bid of tender document for the under mentioned work.

Name Of Work	विद्याधर नगर जोन के वार्ड नं. 34,36,37,39,40,41 व					
	42 में वार्षिक बरसाती नाला सफाई व मरम्मत कार्य।					
	वर्ष 2024-25					
Cost of tender document(non-refundable) + GST@ 18%	Rs. $500 + 90 = 590$ /- (to be paid online only)					
Risl processing fee (non-refundable)	Rs. 500/- (to be paid online only)					
Estimated project cost	Rs. 39.23/-					
Earnest money deposit emd 02% & 0.5%	Rs. 78460/-, 19615/-					
Defect liability period	06 month					
Work execution period	06 month					
Tender published on procurement website (https://eproc.rajasthan.gov.in)	Date 01-02-2024 time 6:00 pm					
Tender document submission start date and time	Date 01-02-2024 time 6:00 pm					
Last date for submission	Date 10-02-2024 time 6:00 pm					
Tender opening date/ time	Date 12-02-2024 time 11:00 am					

Note:-

1. Tender are to be submitted online in electronic format on website https://eproc.rajasthan.gov.in)

2. Tender fee. Emd. Processing fee are to be paid online only, DD and cheques will not be accepted, registration certificate in appropriate class & sales tax clearance certificate valid up to the date of bid also must be uploaded along with the bid. If any reason government holiday is declared on the opening of technical/ financial bid date, the tender shall be opened on the next working date at the same time and place.

3. Municipal corporation jaipur greatar reserves the right to cancel all or any bid without assigning any reason there of. All conditions of rpwa.100 shall be applicable.

4. Interested bidders may obtain further information from the office of executive engineer vd zone AMBABADI CIRCLE AMBABADI JAIPUR Municipal Corporation jaipur greatar.

5. Annexure A,B,C,D & E are also attached with the bid forms are suppose to read thoroughly and fill as and where required, bidder should have be signed and scan copy to be uploaded on www. https://eproc.rajasthan.gov.in other wise bid may be not accepted.

6. संवेदक द्वारा ई.पी.एफ. एवं ई.एस.आई. में पंजीयन की प्रति निविदा के साथ संलग्न किया जाना आवश्यक होगा तथा आयुक्त महोदय के परिपत्र क्रमांक 1492 दिनांक 09.01.2023 की पालना में संवेदक को राज्य/केन्द्र सरकार की नवीनतम दरों के अनुसार अपने समस्त श्रमिकों का नियमानुसार ई.पी.एफ, ई.एस.आई. जमा कराना होगा जिसमें नियोजित श्रमिकों की मजदूरी राशि से कटौती और संवेदक का अंशदान शामिल होगा। संवेदक द्वारा अपने आगामी माह के बिल के साथ गत माह के पेटे श्रमिकों के ई.एस.आई. और ई.पी.एफ के अंशदान की राशि नियमानुसार जमा कराये जाने की पुष्टि में सम्बन्धित चालान की प्रति प्रस्तुत किये जाने पर ही संवेदक को आगामी माह के बिल/बिलों का भुगतान किया जायेगा।

Executive engineer (VDZ) Nagar nigam jaipur greatar